



DEPARTMENT OF MATHEMATICS

UNIT-III PARTIAL DIFFERENTIAL EQUATIONS

Solve: $x(z^2 - y^2) \frac{\partial z}{\partial x} + y(x^2 - z^2) \frac{\partial z}{\partial y} = z(y^2 - x^2)$

$$\Rightarrow x(z^2 - y^2)P + y(x^2 - z^2)Q = z(y^2 - x^2)$$

$$P = x(z^2 - y^2); \quad Q = y(x^2 - z^2); \quad R = z(y^2 - x^2)$$

$$\frac{dx}{x(z^2 - y^2)} = \frac{dy}{y(x^2 - z^2)} = \frac{dz}{z(y^2 - x^2)}$$

Choose first set of multipliers $(l, m, n) = (x, y, z)$

$$\Rightarrow \frac{x dx + y dy + z dz}{x^2(z^2 - y^2) + y^2(z^2 - x^2) + z^2(y^2 - x^2)} = k$$

$$\Rightarrow Dv = 0$$

$$\Rightarrow Iv: x dx + y dy + z dz = 0$$

$$\Rightarrow v(x, y, z) = x^2 + y^2 + z^2 = c_1$$

Choose second set of multipliers $(l', m', n') = (\frac{1}{x}, \frac{1}{y}, \frac{1}{z})$

$$\Rightarrow \frac{\frac{1}{x} dx + \frac{1}{y} dy + \frac{1}{z} dz}{\frac{1}{x} x(z^2 - y^2) + \frac{1}{y} (x^2 - z^2) + \frac{1}{z} (y^2 - x^2)} = k$$

$$\Rightarrow Dv = 0$$

$$\Rightarrow Iv: \frac{1}{x} dx + \frac{1}{y} dy + \frac{1}{z} dz = 0$$

$$\Rightarrow v(x, y, z) = \log x y z = \log c_2$$

$$x y z = c_2$$

\therefore General soln. is $\phi(x^2 + y^2 + z^2, x y z) = 0$



DEPARTMENT OF MATHEMATICS

UNIT-III PARTIAL DIFFERENTIAL EQUATIONS

Solve: $(3z-4y)p + (4x-2z)q = 2y-3x$.

General form: $\frac{dx}{3z-4y} = \frac{dy}{4x-2z} = \frac{dz}{2y-3x}$.

Choose first set of multiplier $(l, m, n) = (x, y, z)$

$$\Rightarrow \frac{x dx + y dy + z dz}{x(3z-4y) + y(4x-2z) + z(2y-3x)} = k.$$

$$\Rightarrow Dv = 0.$$

$$\Rightarrow Nr: x dx + y dy + z dz = 0$$

$$\Rightarrow u(x, y, z) = x^2 + y^2 + z^2 = c_1$$

Consider the other multiplier $(l', m', n') = (2, 3, 4)$.

$$\Rightarrow \frac{2 dx + 3 dy + 4 dz}{2(3z-4y) + 3(4x-2z) + 4(2y-3x)} = k$$

$$\Rightarrow Dv = 0$$

$$\Rightarrow Nr: 2 dx + 3 dy + 4 dz = 0$$

$$\Rightarrow v(x, y) = 2x + 3y + 4z = 0$$

$$\therefore \text{G.S. } \phi(x^2 + y^2 + z^2, 2x + 3y + 4z) = 0$$



DEPARTMENT OF MATHEMATICS

UNIT-III PARTIAL DIFFERENTIAL EQUATIONS

Solve: $x^2(z-y)p + y^2(x-z)q = z^2(y-x)$

General form: $\frac{dx}{x^2(z-y)} = \frac{dy}{y^2(x-z)} = \frac{dz}{z^2(y-x)}$

Consider the first set of multiplier $(l, m, n) = (\frac{1}{x^2}, \frac{1}{y^2}, \frac{1}{z^2})$

$$\frac{\frac{1}{x^2}dx + \frac{1}{y^2}dy + \frac{1}{z^2}dz}{z-y+x-z+y-x} = k$$

$$\Rightarrow Dr = 0$$

$$\Rightarrow Nr: \frac{dx}{x^2} + \frac{dy}{y^2} + \frac{dz}{z^2} = 0$$

$$\Rightarrow u(x, y, z) = \frac{1}{x} + \frac{1}{y} + \frac{1}{z} = c_1$$

Consider the other multiplier $(l', m', n') = (\frac{1}{x}, \frac{1}{y}, \frac{1}{z})$

$$\frac{\frac{1}{x}dx + \frac{1}{y}dy + \frac{1}{z}dz}{x(z-y) + y(x-z) + z(y-x)} = k$$

$$\Rightarrow Dr = 0$$

$$\Rightarrow Nr: \frac{1}{x}dx + \frac{1}{y}dy + \frac{1}{z}dz = 0$$

$$\Rightarrow v(x, y, z) = \log(xyz) = \log c_2$$

$$xyz = c_2$$

∴ soln is, $\phi(\frac{1}{x} + \frac{1}{y} + \frac{1}{z}, xyz) = 0$